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Summative assessment-II

Blue print
	S.N.
	FORM OF QUESTIONS
	VSA
	SA-1
	SA-II
	LA
	MCQ
	TOTAL

	1.
	CARBON COMPOUNDS 

PERIODIC CLASSIFICATION OF ELEMENTS
	1(1)

-
	2(1)

2(1)


	-

6(2)
	5(1)

-
	5(5)

-
	14

07

	2.
	REPRODUCTION
HERIDITY AND EVOLUTION
	-

-
	4(2)

-
	3(1)

9(3)
	5(1)

-
	6(6)

-
	18

-

	3.
	LIGHT
HUMAN EYE AND COLOUR- FUL WORLD
	-

1(1)
	2(1)

4(2)
	6(2)

3(1)
	5(1)

-
	5(5)

-
	18

8

	4.
	NATURAL RESOURCES 

ENVIRONMENT
	-

2(2)
	2(1)

2(1)
	-

-
	-

-
	-

-
	2

4
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MAX MARK: 80
_____________________________________________________________________________________

General instructions:
1. The question paper comprises of two sections, A and B you are to attempt both the sections.

2. All questions are compulsory.

3. There is no overall choice. However, internal choice has been provided in all the three questions of five marks category. Only one option in such question is to be attempted.

4. All questions of section A and all questions of section B are to be attempted separately.

5. Question numbers 1 to 4 in section A are one mark questions. There are to be answered in one word or one sentence.

6. Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.

7. Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.

8. Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.

9. Question numbers 26 to 41 in section B are multiple choice questions based on practical skill. Each question is a one mark question. You are to choose one most appropriate response out of the four provided to you.

10. An additional 15 minutes time has been allotted to read this question paper only.
________________________________________________________________________
SECTION -A

Q.1 Name the phenomenon in which ciliary muscles  can change the focal length of eye lens.    

Q.2 How many covalent bonds are these in a molecule of ethane?

Q. 3 What is each step or level of food chain called?
Q.4 Name the two gases which may cause acid rain.

Q.5 write down the working of human eye in brief.

Q.6 What is Hypermetropia ? Suggest it’s correction.

Q.7 The magnification for a plane mirror is m=+1 .What does this signify?
Q.8 What are the social and environment problems due to large dam?

Q.9 What would be happen when ethanol reacts with?

(a) Sodium metal

(b) Ethanoic acid in presence of H2SO4 

Q. 10 If an element ‘X’ is placed in group 14 what will be the formula and nature of bonding of chloride?

Q.11 What is eutrophication? Mention its harmful effect.

Q.12 List two function s performed by ovaries in a human female.

Q.13 What is pollination? Describe cross pollination.                   

Q.14 A concave mirror of focal length 20 cm forms a real image at a distance of 40 cm. Find the position of the object. 

Q.15 Give the reasons for the followings:-

    (a) Sky looks blue (b) Sun looks red at sunrise and sunset (c) clouds look white.

Q.16 Write down the laws of refraction.
Q.17 what were the limitations of Dobereiner’s classification?

Q.18 Arranges the following element in increasing order of their atomic radii:

(a) Li, Be, F, N

(b) Cl, At, Br, I

(c) Rb, Na ,Li, K

Q.19 Give the function of a) Testis and b) Uterus 

Q.20 Explain the terms analogous and homologous organs with example.

Q.21 What are fossils? What do they tell us about the process of evaluation? 
Q.22What factors could lead to the rise of a new species?

Q.23 Draw the ray diagram in each case to show the position and nature of the image formed when the object is placed:-(a) at the center of curvature of a concave mirror  (b) between the pole P and focus F of a concave mirror .(c) at 2F ,of a convex lens. 

                                                               OR

An object 5 cm in length is held 25 cm away from a converging  lens of focal length 10 cm. draw the ray diagram and find its position ,size and the nature of the image formed .
Q. 24 (a) Draw the electron dot structure of O2 molecule.

           (b) Why detergents are better cleaning agents than soaps? Explain

                                                                   ‘OR’ 

How can ethanol and ethanoic acid be differentiated on the basis of their physical and chemical properties?
Q.25 A) Define bisexual flower .Name male and female part in flower.

B) Draw well labeled diagram of pollen germination on style.

                                                OR

(a) Where do fertilization occurs in female reproductive system?

(b) What will happen to the female egg if it is not fertilized?

SECTION-B
Q. 26 If we put red litmus paper in both A & B test tube, the observations will be :
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(a) In A red litmus turns blue, in B it remains red

(b) In A red remains red, in B it becomes blue

(c) In both A,B, it remains red

(d) In both A, B, it changes to blue

Q. 27 Zinc granules are placed in each of the four solutions A,B,C & D as shown below. Decolonization would be observed in :
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Q .28 Glacial acetic acid is 

(a) 5-8% acetic acid

(b) 50% acetic acid

(c) 100% acetic acid

(d) Acetic acid of any concentration

Q. 29 The odour of ethanoic acid resembles with:

(a) Tomato juice

(b) Kerosene

(c) Orange juice

(d) Vinegar

Q.30 On adding acetic acid to solid sodium hydrogen carbonate, a student observes the liberation of 

(a) Greenish yellow gas with a pungent smell

(b) colorless and odorless gas

(c) Yellow coloured odorless gas  (d) Colorless gas with smell of rotten eggs. 
Q.31 The mirror which is used  in car-head lights ,search lights and in torches is :-

          (a) Plane mirror  (b) concave mirror  (c) convex mirror  (d) none of these.

Q. 32 Magnification produced by a rear view mirror fitted in vehicles is :-

           (a) less than one  (b) more than one  (c) equal to one  (d) can be more or less than one depending 

           upon the position of the object in front of it. 

Q.33 The focal length of a mirror depends on

           (a) The material of the mirror  (b) thickness of the silver coating  (c) aperture of the mirror 

            (d) radius of the curvature .

Q.34 You are given water ,mustard ,oil ,glycerine and kerosene. In which of these media a ray of light 

          Incident obliquely at same angle would bend the most ?

(a) Kerosene  (b) water (c) mustard oil (d) glycerine

Q.35.The power of a lens is measured in :- 

          (a) watt  (b) Diopter  (c) joule  (d) erg 
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Which of the following figures does not show budding.
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The following figure illustrates binary fission in Amoeba. Choose the option giving the
correct sequence.

@ (ii) (iif) (v)
a) (i) (iv), (i), (i)
b)  (iii), (iv), (i), (ii)
c) (iv) (i), (i), (iii)
d) (i) (iv) (i) (i)




39.New amoeba formed from parental amoeba are called as?

a) sons                                                                     b) daughter

c) Bud                                             

        d) offspring

40. At the end of the experiment to determine the percentage of water absorbed by raisins, the raisins are wiped just before weighing. This is to ensure that:
 a) Hands do not get wet 

b) The weighing scale does not get wet 

c) The raisins lose water before weighing

d) only water absorbed by raisins is weighed

41. Twenty dry raisins were soaked in 50 ml of water and kept for one hour at 50 c which out of the following was the correct observation?
  a)  8 raisins absorbed water, 12 did not

 b) 10 raisins absorbed water, 10 did not

  c) 15 raisins absorbed water, 5 did not

d)  All the 20 raisins absorbed water.

Marking scheme 
1. Accommodation 

2. seven (07)

3. Trophic level

4.  Nitrogen oxides and sulphur oxides.

5. . When light enters in our eye  it’s intensity is controlled by the contraction of pupil, then the rays entering the eye are focussed on the retina by the eye lens. A real and inverted image of the object is produced on the retina .The retina converts light energy into electrical energy .  the electrical signals produced by the retina reaches the brain by optic nerves. The brain interprets the electrical signals and produced sensation of vision.

6. A person can see only distant objects but not nearby objects. It can be corrected by using convex lens.

 7. (a) m=1 size of the object is equal to  size of the image  (b) m+ shows that image is virtual and erect. 

8. Uproots people settled at the place of dam/deforestation and loss of bio diversity

9. (A) ethanol reacts with sodium in the cold to form sodium ethoxide with the evolution of hydrogen gas.                                                                                                                                                                     
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(B) When ethanol is heated with excess of concentrated of H2SO4at 443K an unsaturated hydrocarbon ethane is produced.
CH3CH2OH                                                        CH2=CH2  +   H2O

10. Its valence is 4. Since it prefers to share these four electrons to acquire the stable electronic configuration of the nearest inert gas. Thus nature of Chloride of element ‘X’ is covalent.

11.Reduction in the level of dissolved oxygen in water due to excessive leading with nutrients and algal growth.
12.Formation of ova, Secretion of hormones-estrogen and progesterone.

13. Transfer of pollen grains from the anther of stamen to stigma of the pistil.

         Cross pollination- Transfer of pollen from the anther of one flower to the stigma of another flower of a different plant of the same species.

14. u=?  f=-20cm  v=-40cm    using formula     1/u+ 1/v=1/f    ans. U=-40cm

 15. (a)Blue light is scattered more than other colours. (b) most of the blue light is scattered due to long distance covered by the sunlight in atmosphere so there is about absence of blue light so it appears as red or yellow . (c) Because water droplets scatters all wavelengths .

16. (a) The incident ray ,refracted ray and normal all lies in the same plane (b) u sin i=C

17. (1) All the elements known at that time could not be arranged as Dobereiner’s triads.

     (2)   nitrogen phosphorus arsenic have similar chemical properties but these elements do not constitute a Dobereiner’s triads.

18.(a) F< N< Be< Li.

     (b) Cl <Br <I <At. 

     (c)Li< Na< K< Rb.

19. Testis- Production of male gametes and male sex hormone

         Uterus- Site for implantation and development of embryo.
20. Analogous organs-Organs which have similar appearance and function but ar different in their origin, development and anatomy .Eg-Wings of butterfly and bird

Homologous organs—Organs which has similar origin, similar development and similar internal structure but have different forms and functions. Ex – Fore limbs of horse, human hand, flippers of whale, wings of birds.

21. Fossils are remains or impressions of past organisms that are found in the rocks of the old ages. They are often called written documents of evaluation, because they directly indicate the presence of different types of organisms in different ages. The early fossils are of simple organisms. Later on different complex forms arose, flourished and died down. They were replaced by newer forms. Study of fossils can indicate the evolutionary stages of organisms. 

22. i) Absence of gene flow 

ii) Accumulation of different variations.

iii) Natural Selection.

iv) Genetic drift.

v) Reproductive isolation.

23.(a) At C  real and inverted ,same in size as the object (b) behind mirror , virtual and erect and magnified.  (c)At F  real inverted  and same in size.
                                             OR

                                            By Lens formula   1/v-1/u=1/f

1/v-1/-25=1/10

V=16.67cm.

H1=v/u*ho
H1=-3.3cm

Image is real and inverted.
 24.(a)  Oxygen is divalent. It has two shared pairs. Structure of oxygen molecule.

    (b) detergents lower the surface tension of water to a greater extent than soaps and hence detergents are better cleaning agents than soaps.

                                                OR
Ethanol – alcoholic smell, B.P.-   351K, litmus test- Neutral
Ethanoic acid –vinegar like smell, B.P-391K Litmus test-changes blue litmus strip to red.
Reaction with sodium carbonate.

Action with caustic alkalies.
25. A) presence of both  the male and female part in the same flower.

(c) Male part- stamen. Female part- Pistil

(d) Diagram as given in the NCERT TEXT BOOK

OR

a) Fallopian tube

b) Describe menstrual cycle

26. (B) 27. (b) 28. (c) 29. (d) 30. (b)  31. (C)   32. (a)  33. (d) 34. (d)  35. (b) 36. (d) 37. (b) 38.(b)39.(b)40.
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